Equal 9 step grey scaling betweeb* g3n=22.3 andL*y,,=96.0, Ygret=3.6, normalisation: white W

g%= 99, g%= 99
intended output
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real output
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L*0anm22.3,L*0a=59.1,L*9aw~96.0, Yoan=3-6, Yoalr27-2, Yoan=90.0,Coay=Yoaw: Yoan=25.0
L*in=31.6,L*1au=61.3,L*1a1=96.0,Y;an=6.9, Yiau=29.6, Yian=90.0,Ciay=Yiaw: Yian=13.0
regularity index according to ISO/IEC 15775:2022, Annex G for 5 and 9 steps
g* = 100 AL* min 1/ [ AL* max ]
g%= 98, g%5= 97

linearized output

a (Ltr) U112 43
90.0 1.0 96.0
70.4 0.877 88.0
53.9 0.752 80.0
40.4 0.627 72.0
29.6 0.501 63.9
21.1 0.375 55.8
14.7 0.249 47.7
10.1 0.126 39.8
6.9 0.0 31.6
Yoait+Yoref

. normalisation: Yigiw=Yoaw
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